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QUESTION 1

Referring to an Unconnected Lookup transformation: Which one of the following is true? (choose one)

A. An unconnected lookup can return multiple rows while a connected lookup may return only one

B. Both connected and unconnected lookups can return multiple rows

C. An unconnected lookup may return only one value while a connected lookup may return multiple rows
D. Both connected and unconnected lookups can return only one row

Correct Answer: C

QUESTION 2

Assuming that the value of Fl is 12 as it enters the decode statement, which of the following decode statements will
produce the value V? Choose 2 answers
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A. DECODE(F1,

12.°%°,
13, 'M',
14, 'N’,
‘R’
)

8. DECODE(F1,
Fi1=12, ",
F1=13, 'M',
F1=14, 'N',
‘R
)

C. DECODE(TRUE,
F1=12, 'Y,
F1=13, 'M’,
F1=14,'N',
‘R

D. DECODE(TRUE,

220,
13, 'M’,
14‘. lNlr
IRI
)

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: AC

QUESTION 3
The word FALSE is a valid Filter transformation condition?
A. True

B. False
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Correct Answer: B

QUESTION 4
Which of the following is true about database connections?

A. Connections may only be created in the Workflow Manager for PowerCenter Repositories and only in the Developer
for the MRS

B. PowerCenter connections may be created In either the Administrator or the Workflow Manager
C. MRS connections may be created in either the Workflow Manager or the Administrator

D. Connections may be created in the Administrator for the MRS and in the Workflow Manager for PowerCenter
Repositories

Correct Answer: A

QUESTION 5
Referring to the Sequence Generator transformation, which statement is correct and true?
A. The NextVal column produces the next number in the sequence

B. The cycle check box on the properties tab turns on a feature that randomizes the numbers but still produces a unique
set of numbers for the sequence

C. The default ending value for a PowerCenter 9.x Sequence Generator is 2,147,483,647
D. The Sequence Generator contains a single input port that represents the initial starting point of the sequence

Correct Answer: A

Latest PRO00041 Dumps PR000041 VCE Dumps PR000041 Study Guide

Latest PRO00041 Dumps | PRO00041 VCE Dumps | PRO00041 Study Guide 4/4


https://www.geekcert.com/pr000041.html
https://www.geekcert.com/pr000041.html
https://www.geekcert.com/pr000041.html
http://www.tcpdf.org
https://www.geekcert.com/pr000041.html
https://www.geekcert.com/pr000041.html
https://www.geekcert.com/pr000041.html

